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Creating Lists of Data, Displaying the Graph, Using the Regression Capabilities of the
Calculator, Finding the Intersection Between Graphs, and Finding the Maximum of a

Graph

Creating Lists of Data
To enter the data from the Snapshot in the activity,
press and select 1:Edit to accessthe List Editor
window. Be sureto clear any existing datain the lists
by highlighting the list name and pressing <. If you
see alist other than L1 through L6, press and select
5:SetUpEditor cand then follow the above
instructions.

Move the cursor to the first data positionin L1 and
enter the years from the USA TODAY Snapshot “Is
leisure time really shrinking”. Move the cursor to the
first data position in L2 and enter the corresponding
median number of hours per week Americans say
they spend on work. Move the cursor to the first data
position in L3 and enter the corresponding median
number of hours Americans say they spend on leisure
per week.

Move the cursor to the top of L4 and press y € #
yoc. The numbersin L4 represent the difference
between consecutive entriesin L2 and L3.

median hours at work per week and median hours
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Displaying the Graph
Accessthe STAT PLOTS menu screen by pressing v

0. Select (press cor the number 1) 1:Plotl to get the
screen shown. Make the changes needed, so that

Flokz  Flots
T

Move the cursor to Plot2 at the top of the screen and
press c. Repeat the procedure above for Plot2 with
the settings shown at the right.
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Toinsure that al the data points are visible, press
and enter values for the x-axis and y-axis that contain
the range of values from both sets of datashownin
the graphic (see suggested values at the right).
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Press oand clear any equationslisted. Pressc to view
both scatter plots. Years (L1) are on the horizontal

number of hours per week that Americans say they
spend on leisure (L3) consumption are on the vertical
axis. Press pand usethe |or ~keys to read the values

of the data points. Usethe }or to move between the
scatter plots.

Another way to set the window for a scatter plot isto
press 6 —. Thiswill select 9:ZoomStat which will
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automatically set the viewing window and display al the data points from both scatter
plots.
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Using the Regression Capabilities of the Calculutor
To turn off the diagnostic tools of r (correlation
coefficient) and rf (coefficient of determination), Eﬁggtl;lﬁ - ﬁ - [ Formatted: Superscript
press wND then press until you locate Oedres
DiagnosticOff. O=1Wa-
DerendAsk
DerendAut.o
de .
r0iagdnosticOf

Press cc. If you want to activate the diagnostic tools Dizgnosticlit

of r and I'E repeat the above procedurebutselect  |"7 "7 "7 "7 T Done| [ Formatted: Superscript

DiagnosticOn. [ ]

To usethe regression capabilities, press ~toaccess [QyacddFed Li.Lz» Y1
the CALC menu. The regression models are 3
through C and the arguments for each regression
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model are the same. To use the quadratic regression model select 5:QuadReg from the
STAT CALC menu and enter yo'ye” ~cc to include all arguments shown in the screen
shot. These commands will calculate the best fit

| model for the scatter plot of L1 and L2 and then paste the
model inthe Y=register in Y 1.

Press cto calcul ate the quadratic function that best EuadE%Eh N
H=3k xTic
models the data set. i= o BrI1ESESA1G
b=8c.Hr511391]
c=-25778.A932
e | Bz= 9537199383 |
[ "
e
Repeat the above procedureto determine the BuadRFeg LisLz.%z
guadratic model for the other scatter plot of L1 and
| L3 with the regression equation being put in Y 2.
LuadEe3a
g=ax+thxtc
a=,d372851534
b=-147.9909/7232
c=147182.5855
Re=.96417E3133
[
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Press oto view the functions. Noticethat Plot 1is
highlighted, which indicates that the data points for
L1 and L2 are showing on the graph. The = beside
Y lisalso highlighted, which indicates that the
function determined by the regression capabilitiesis
also showing on the graph. Pressing cwhen the
cursor isin either of these highlighted areas actsas a
toggle to turn on or off the display of that component
on the graph.

Press mand make the change shown in the screen shot
a theright. The change is necessary so that the
intersection of the two curvesisin the graphing
screen.

Press cto see both functions and scatter plots.

Finding the Intersection between Graphs

Pressy /and select 5:intersect. At the bottom of the
screen the prompt appears identifying the curves that
intersect. Usethe up or down arrow keysto switch
between the curves. Press cwhen prompted to
identify the First curve.
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Press cagain when prompted to identify the Second

Curve. Notice that the cursor has jumped to the other curve
and the equation has changed in the upper left-hand corner.

When prompted to Guess, use the right or left
arrow keys to place the cursor near the point of
intersection that you are trying to find, then press
If there were more than two curves use the

up or down arrow to move the cursor to the curve
you want to use before pressing ENTER. The
coordinates of the intersection are displayed at the
bottom of the screen

Press y / and choose 4:maximum. If there are
multiple graphs use the arrow keys( }) so that the
cursor is on the model where the maximum is located.
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Use the arrow keys(~|) to move the cursor so that it is
to the left of the maximum value of the graph and
pressc.

Continue to pressing ~ until the cursor ison the right
side of the maximum value of the graph and press c.

When prompted to Guess, use the right or left arrow
keysto place the cursor near the point representing
the maximum that you are trying to find.

bottom of the screen.
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1'1. You probably noticed under

/| “displaying the graph” that | deleted

I'| several sentences about turning the plots
'| onand off. When | select Plot1, my
calculator has plotl and OFF highlighted.
The cursor isblinking on ON, so | just
press ENTER. Sincethat is different than
what your calculator isdoing, | just
figured that the students should be able to
match your screen given no further
direction.{

2. | amassuming that | don’t have to
review the TE and SE activitiesthat go
along with this TG. If more questions are
needed, | would suggest to ask the
students to do more interpretating. For
example: Are these good modelsto use
for predictions? Why or why not? Why
do you think the maximum work hours
per week occurred in 1994? How might
the data be skewed depending upon how
the data was collected and what kinds of
careers were represented?




